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1 [HH A H B I AT THE 4-204-1-063 28,625 486 37 0 0.01
2 |54 HHH = U T 1Taik 4-204-1-064-1 41,599 64 91 0 0.07
3 |HH A MR S Uk BT THE 4-204-1-064-2 56,802 63 101 0 0.03
4 |HH FHT = IR BT o S 4-204-1-065 45723 390 86 0 0.05
5 |#H fHT = IR T LRk 4-204-1-066-1 45,340 38 75 .0 0.02
6 |5 H AHm = IR ET THiE 4-204~-1-066-2 43,044 14 80 0 0.03
1182H HH = U ET THRK 4-204-1-067-1 44 854 82 56 0 0.01
8 |AH A H i IRy TRk 4-204-1-067-2 54,704 31 fE 0 0.03
9o |HH HHEW | =i TERE 4-204-1-068 30,805 39 59 0 0.04
10 |5H |HHEH ‘Bl T tHE 4-204-1-074 25,779 — 118 0 0.03
11 |FH FHAT T EET EX=b 4-204-1-075 20,915 86 60 0 0.01
12 |£H FHlH = IR ET TAE 4-204-1-076 23013 180 49 0 0.01
13 | H FHH = I ET TR 4-204-1-077 17,025 33 36 0 - 0.01
14 |5 H FHH = g T +5ik 4-204-1-078 1,240 s 4 0 0.01
15 |5 H HHT = UG T Rk 4-204-1-079 18,487 47 " 65 0 0.03
16 | H FHE = U T THE 4-204-1-080 22723 9 58 0 0.05
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1| EH AHAH JEHT %‘[ﬁﬁﬁﬁh@%ﬁ 1-691 14,920 2,544 17 3 24 47
2 |5H AHT iy S jESitho ERiE| 1-40518 3,563 1,182 2 0 17 41
3| HH AHT = UG AT %1@#4%@53% 1-723 81,505 32,790 74 18 92 39
4 |EH HHEH = I RT E{ERIHhDERIE| I -724 43,296 15,754 40 6 84 42
5 [FHA AHET - [=IAE 2Eftha ARtk 1-725 36,822 11,884 17 6 91 48
6 [HH AW = I ET SRR O RRIE| T -727 31,051 13,291 29 4 100 41
715H HFH IR ET SfER O ERIR| I -728 36,827 10,307 52 8 54 53
8 [HH EET =58 2MEEhD BRI T -732 . 18,006 3,522 67 8 28 50
9 [HH FHT | =GHET SAHHhD HAE T -733 29,033 10,566 41 6 55 43
10 {H HHEH B IRET SR D HAE] 1 -734 64,255 25 048 88 17 63 39
11 |5H FHM = I T SlEsh @R 1735 22942 6,940 28 2 41 41
12 |HH HEW | =R SARh O FRE 1 -736 8,273 1,268 17 12 | 16 54
13 |EH FHM =I5 AEM O RAE[ 1 -739 13,074 5,890 19 3 69 42
14 |EH EHth =I5 T 2B M D FREE| T -3705 1,915 15 3 1 10 61
15 |HH H M = IR AT SIARI R D FRIE[ [ -3714 7,627 1,238 8 1 41 53
16 |HH HHET = IR ET SlERI D FRLE| T -3024 935 319 2 1 13 38
17 | H AHT = g Y SER Mo HAE( T -1506 7,564 3,251 7 0 53 50
18 |5 H FHT = IR BT SUER @ ERiR| T-40519 5,536 1,240 3 0 19 54
19|8@B  |AHBH = Gy FIESIh O B K| T 40520 3,094 1,413 1 0. 39 49




